TO-92 Plastic-Encapsulate Transistors
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FEATURES

C945 TRANSISTOR(NPN)
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Collector-base breakdown voltage V(BR)CBO lc=1000u A, le=0 60 V
Culleqtnr—em_ittér breakdown voltage V(BR)CEO Ic= 0.1 mA, Is=0 50 V
Emitter-base breakdown voltage V(BR)EBO le= 1001 A, Ic=0 5 V
Collector cut-off current o8 Ves= 60 V, le=0 0.1 nA
Collector cut-off current IcER Vee= 55V, R= 10 MQ 0.1 HA
Emitter cut-_nff current | lEBO Vee= 5V, lc=0 0.1 A
" hre(1) Vece=6 'V, Ic= 1 mA 70 700
DC current gain '
hre(2) Vee=6V, lec= 0.1 mA 40
Collector-emitter saturation voltage VCEsat Ilc= 100 mA, Is= 10 mA 0.3 Vv
Base-emitter saturation voltage VBEsat lc= 100 mA, le= 10 mA 1 Vv
Base-emitter voltage Vee le= 310mA 14 Vv
o . Vce=6V, lc= 10 mA
Transition frequency fr | 150 MHz
f =30MHz
CLASSIFICATION OF hre®

Rank O Y GR BL

Range 70-140 120-240 200-400 350-700
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Typical Cha_racteristic-s = CcC945
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